


...10

11

.13

.15

...15

.. 23

.. 26

.. ..20

.31

... 36

.. ..36

. .39

.41



(
(

)
)

.41

.. 44

.. 48

...50






49.0%

2.5

2010

81.8% ,

o

1996

22.6%,

1996

79.7%



, 1995

95,941 : 81,982 5.14
o ( ) :
791 /L °
: 8"
: 1996 CO2 52%
o IPCC CO2 :
CO2 24.1% , 12.6%.
CO2 15.7% , 8.2%.
()
1. : Qmax=[Stm*(Hstm-Hwat)]dsn
539kcal/kg : latm

. 100 , 0



. Load=[Stm*(Hstm-Hsat)+Wat*(Hsat-Hwat)]/Qmax

: Qin=Fuel*NHV

: N b=Stm*(Hstm-Hwat)/Qin



)

, 1999 4-~6 18 :
, 0.5% 1.0%
87%., 12%, 10,000kcal/kg, IPCC 9,600kcal/kg
o IPPC :
99%,
99.3%,
, 5~ 8%. 3~4%. 25~ 35%,

40 ~ 50%, 12 ~ 20%. 6,000 ~ 6,800kcal/kg.

2.1.
w.t% ( )

C H C/H *k Kcal/ka

AR A 2N Q 29 aonNnnlkral/m~? 121NN

83.2 | 12.8 6.5 8800kcal/L 10300

0.5%S 87.4 | 11.8 7.4 9400kcal/L 10000
1 0%S 8 8 | 119 7R a200kcal/l 10000

6A N 44 14 9 | A400kecal/ko 200

e ” 2000/4.



2.2. IPCC

kcal/ka kcal/m3
(CZH\N RANAQQ 1TN1NA 1NQOA 112K
(NHW) 6159 9599 10349 12137
N 98] N 99 N 99 N 995

: 1996 IPCC Guidelines for National Greenhouse Gas Inventories

02
02% ,
02% , 02%
83~92%,
0 02%
: H20 =21/(21 - 02%*100
: 02% :
93 ~ 98%. ;
02% ,
2.3.
02%
( ) 3.0% | 5.0% | 7.0% | 1.17 | 1.31 | 1.50
25% | 4.2% | 6.0% | 1.14 1.25 1.40
26% | 45% | 6.3% | 1.14 | 1.27 | 1.43
) 2.7/% | 46% | 6.4% | 1.15 | 1.28 | 144
/ 86.7% | 88.7% 1 89.0% [ 97.7% | 96.7% | 94.9%




10 ,
14 . 11
, 02 ,
75% N2 0
H20
, H20 H20
H o H20 ,
11%. 9% |,
2.4,
02% () 3.0% 5.0% 7.0%
NID 70 Q0A 71 ROA 72 20hi
( CcO2 8.9% 8.1% 7.2%
) H20 17.7% 16.2% 14.6%
2.5.
02% () 3.0% 5.0% 7.0%
N2 72 RA0A 74 NO0A 74 A0A

70~

16%.



COo2 11.9% 10.7% 9.5%
H20 11.8% 10.8% 9.8%
2.6.

02% ( ) 3.0% 5.0% 7.0%

N2 72 R0k 72 Q0A 74 A%

( CO2 14.2% 12.7% 11.2%

) H20 9.5% 8.7% 7.9%

3.5%02 ,
0 N2
200~1,400 ;
7.7 ~9.3kcal/kgmolK o
; 3,650 ~
15,700kcal/kgmol .

,25 . 3.5%02

2,084kcal/kgmol

2.7.



02 N2 CO2 H20
() (kcal/lkamolK)
25 7.0 7.0 8.9 8.0
1400 8.8 8.3 14.0 11.4
800 8.2 7.8 12.6 9.9
200 7.5 7.2 10.9 8.6
2.8. 3.5%02
Cp (kcal/lkamolK) H(kcal/kamol)
()
25 7.0 7.0 7.0 2084 2084 2084
1400 9.3 9.3 9.4 15629| 15617, 15706
800 8.6 8.6 8.6 0194 9216| 9276
200 7.7 7.7 7.8 3647 3660 3681
SO2
0.5%S 1.0%S , 1987 2.0%, 1990
1.5% , ,
, 1.0%S
, SO2%
760 ~ 850ppm °
SO2 ,
SOx , SOx

60% ~



80% , SO2 :

0 SO2
N2 SO2 : 02 3.0%
7.0% S0O2 22.8%,
2.9.

wt%S 02% 3.0% 5.0% 7.0%
0.5%S 0.025% 0.022% 0.020%
1.0%S | SO2% 0.051% | 0.045% | 0.039%
1.0%S 0.085% | 0.076% | 0.066%

Walter R. Niessen, "Combustion and Incineration Process"
, SO2 SO03 2.5~3.5% ,

0.5% 95 1.0%

120 o :

10



0.5% 130 : 1.0% 160

11



2.10. 0.5%
110 120 130 140 150
Oe% 82 88 95 102 108
3.0% 95~73(94~73|94~72193~72|92~72
5.0% 92~71(91~71|91~71|90~70|90~70
7.0% 80~69(88~69|88~69|87~69|87~68
2.11. 1.0%
140 150 160 170 180
Oe% 102 108 115 122 128
3.0% 118 ~87|117 ~ 86|116 ~ 85|115 ~ 85/114 ~ 84
5.0% 112 ~83(111 ~ 83|110 ~ 82|109 ~ 82|108 ~ 81
7.0% 107 ~ 80|106 ~ 79|105 ~ 79|104 ~ 78/103 ~ 78
CcCO2
r ] . 2010
, 1998 ,
o CO2
CcCO2 0
2.12.
IPCC * #

ton C0O2/1012]

CO2

12




15 55 R 40 N 20 kn/m?
20.2 73.3 70.0 2.6 ka/L
21.1 76.6 75.8 3.0 ka/L
25.8 92.7 89.4 2.4 kalka

-¥1996 IPCC Guidelines for National Greenhouse Gas Inventories.

#

13




\\\\\

2y,

Y%y



(

)

10kg/cm2G

15



TF-Tstm

800

100
95
90
85
80
75
70
65
60
55
50
45
40
35
30
25
20
15
10

|

|
L. O 0O_|
N
3

25 30 35 40

T T T ==
. SRR .

50 55 60 65
Load %

16

4 1 o«
4 4 4+ 4+ 4+ 1
—— e —_—— /
- -/ )
= 1T T T+ T Q€

A-1(1987)
C-1(1988)
A-2(1994)
D-1(1989)

B-1(1991)

L B-2(1988)



0 350

; 1:1300,

()
87% ,

. 3 4~2%,

17

100

9~11%,



2.0%

o

50% 30~50

: N c=1-Kcom

0.5~1.0% o

: N w=(Hrad+Hcov)*Awal/Qin

: N d=(Wat-Stm)*(Hsat-Hwat)/Qin

18

10~25

1.0~



; : 0.5~1.0%

: N g=(G*Hgas-A*Hair)/Qin

Okcal/kgmol ,

50 :

19



(

)

20 /hr,

20

30kg/cm2



(1)
(2)
3)
(4)
(5)
(6)

4.1.




4.2.

\iat, T/h 10.0 N Stm,1/h9.9
Twat, 105 Tstm, 175 o AIE20M 156
Tair, 25
il L/h 645 Trad, ooV, 0e.% 4.0 | Gas,aom22
Toil, % I: 1184 500 TF, 240 Te, 130
SOX,jpom < 208
g Rid,%1.06 , | NOX,pom <3
S T8, dB o ————
72.0% | 1.0% 1.9% 0.1% 7.0% | 90.0%
2.

22



4.3.

23






100%

4.1.
NHV  kcalkg Std he
Ao NmAg Omax _ Mcalihr
Go Nm3/kg Vwin m/s
m AwL m?2
G Nm3/kg Anpeq M2
Oe Nm3/kg Acv.eq M
Ox% % Y rH %
hcony  kcal/lhrm2zK W ka/kg
hrapi  kcal/hrm2K Td
Cp.a kcallkgmol Tref
Cp.m kcal’lkgmol Tair
OwL kcal/hr Ta
Oue kcal/hr Te
OrD kcal/hr T+
QOcv kcal/hr Ta

25




Pstm kg/icm2G THoo
Pstd  kg/em2G Th

w /hr Toil
Qil kg/hr Tstm
Stm /hr Tm
Kcomb % Ts
Rwd % Twi

26




4.2.

02=

Go=

Ado=(1+3.762)*02

W =0.622*W ry*(EXP(18.5815-3987.1/(Td+233.7)))/(760-W
ou*(EXP(18 ER15-2987 1/(Td+2233 7))

Ao=Ado*(1+28.84*W /18)

02%=(m-1)*02/[Go+(m-1)*A0]

mM=G0*02%/(02-A0*02%)+1

A=m*Ao

G=Go+(m-1)*Ao

Cp,a=Z Yi*Cpi(T)

Cp,m=% Yj*Cpj(T)

Ha(T)=J 172 Cp,adT

Hg(T)=J 12 Cp,m dT

Tstm={3795.53/[11.6693-In(Pstm+1)]}-226.18

Qw=(hconv+hrapi)*[2+0.4*(Vwin-1)[*AwL*(TwL-Ts)

Oil=(Qre+QwL)/[NHV*Kcomb+A*[ "2 Cp,a
AT+Sail*(Tail-TrefN-G*[ +..sT9 Cn m dT]

Vap=606.126-0.75851*Tstm+1.55845*10-3*Tstm?

Qre=Stm*1000*(Vap+Tstm-Th20)+(W-Stm)*(Tstm-Tw20)

Qeff=Stm*1000*(Vap+Tstm-Thzo)

Qin=0il*NHV

n b=Qeff/Qin

Tstd={3795.53/[11.6693-In(Pstd+1)]}-226.18

Vmax=606.126-0.75851*Tstd+1.55845*10-3*Tstd?-6.7249*
10-6*T<atd3

Qmax=Std*1000*(Vmax+Tstd-TH20)

Load=Qne/Qmax

SOx, NOx ,

27




, CcO
1 do do?
Po 0.13exp H 95700 ] [ t ! H 4.35%10 0 707
R T 1600
o Field et al.

, tb
Po: :
R
T
do

, Sec
O2 , atm
: 1.986, kcal/kg-mol°K
, °K
, cm

28



(1)
(2)
3)
(4)
(5)
(6)
(7)
(8)
(9)

(10)

o

0.5%

29

1.0%

1.0%

5.0%

1.0%

10

1m/s

10

10

1 0.8% ~ 1.0%,

1 0.4% ~ 0.6%,

7 0.1% ~ 0.2%,

1 0.1% ~ 0.2%,

1 0.3% ~ 0.5%,

1 0.3% ~ 0.4%,

1 0.5% ~ 0.6%,

1 1.0%~1.2%,



(

)

30

3~4% ,



31



32



33

20%



105 ,

55~60 . 180~200

5~7%. 50 ~ 80%, 85 ~ 86%,

61%. 82%. 5 . 210 .
6% , 61%. 85%. 61 . 211
N 6%, ,

5.1.
354
304
25
O m

20%

15% _W

10%

5% _W
nlm mlm

40 45 50 55 60 65 70 75 80

34



5.2.

40%

35%

30%

25%

20%

15%

10% -~
5% -] —| '
0%

120 140 160 180 200 220 240 260 280 300 320 340 460

5.3.

25%

20% —

15% m ]

10%

S%

o L 0 0m |



25%

20%

15%

10%

S%

0%

25%

20%

15%

10%

5%

0%

5.4.

25 30 35 40 45 50 55 60 65 70O 75 80 8 90 95

5.5.

loalol | [N

72 73 75 76 77 78 79 80 81 82 83 84 8 86 87 88 89 90 91




%

90
88
86
84
82
80
78

% r

74
7?2
70

59 , 10 /h( ) 49% |,

48 11 25~ 95%, 72 ~88%
40~80 . 160~320 ., 2~12%,
9% : 2 . 3

75%.
5.6.
o o
o .. o o © R o
[ o 00
o o .
o 8 3 ° M 8
o
. § o
o o
o ¢
o
o
o
(> O
S
20 30 40 50 60 70 80 90 100

37

%



46 , 20 /h( ) 48%
40kg/cm2G 6 ,  22~96%, 77 ~91%,
45~80 117 ~462 3~ 14%,
74% : 8 . 26
100%.

5.7.

92

90

88 S o

©
(o3}
9
o
S O o
'

%
S
o

84 o

80

78

76
20 30 40 50 60 70 80 90

%

38

100



(

)
60
3.5%, ’
1.
(1)
10  ka/em2G 58 91.3 %
12500 ka/hr 185 10.3 %
185 2.3 %
1.0% S 3.0 % 87.4 %
» Stm

5.8.

(2)

10  ka/cm2G

95

/4.1 %

39




10000 ka/hr 205 11.6 %
205 2.9 %
0.5% S 3.5 % 85.5 %
5.9.
Pstm > Stm
Vwin T§ QwL
‘W‘MHMFW Twe ‘? Tstm W  Thoo
Oe%
{/ ——— Qcv Tf Gas
& TRC
oil w | ﬁ
—_—
K% Tc 2= Qp 41
Air 8 1=
v v
Rwd%
(3)
10 ka/cm2G 47 64.7 %
12000 ka/hr 224 7.6 %
130 2.2 %
0.5% S 3.8 % 90.2 %
5.10.
Pstm > Stm
Vwin Ts Qwi
Tstm Two 1
—
Tf
ﬁ Qev z W T,
K TRC
ol w |+ ] ﬁ Oe%
K% TC sz Qg 1 Gas Tg
Ar Ta [ [~~~
v Y



41



(4)

10 ka/cm2G 56 86.9 %
10000 ka/hr 240 9.2 %
160 25 %
1.0% S 3.5 % 88.3 %
5.11.
Pstm P Stm
Vwin Ts QwL
Tstm W Tho
B <L
f’ Qev Tf / Tair
K Tre 1
ol ww 1] ﬁ 0e%
— >
o| K% TC iz Q5 1 Gas Tg
Air Ta [ [ T ——————]
l Rwd%
2.
(1)
10.5 ka/cm2G 62 90.2 %
31000 ka/hr 312 10.3 %
185 1.8 %
0.5% S 3.0 % 87.9 %

42



5.12.

vwin  Ts  Qu Tstm _ Stm
“““““““““““““““ 4 Tu ) l T Tz
——— Pstm
N S—— | —————
Qc Qro 7F Tf //// Air Tair
g Qcv ] W
oil NHV Tc Tg 0%
e =
K% Gas
/\f
Rwd%
(2)
42.5 ka/cm2G 82 79.2 %
32000 ka/hr 345 11.0 %
195 3.0 %
0.5% S 3.5 % 86.0 %
5.13.
vwin - Ts  Qq Tstm _ Stm
f::::ii:{fst@ '
Qc Qro T Tf W Ty
—
= Qcv
Oil NHV Tc Tg 0Oe%
-
K% Gas
- _—" |~ N
Alr Ta \\74/)
W '
Rwd%

43



3)

49.0 ka/cm2G 55 86.6 %
55000 ka/hr 390 11.7 %
90 210 2.5 %
0.5% S 3.2 % 85.8 %
5.14.
B -
Vwm Stm
. M‘ THZO
e
Qc Tf 2 W Ty
Fule HV Tg 0Oek%
=
K% Gas
e
Air Ta L,
W Y
Rwd%
(4)
33.0 ka/cm2G 60 55.1 %
60000 ka/hr 310 11.2 %
150 210 3.8 %
0.5% S 4.0 % 85.0 %

5.15.

44



Fule

HV

Ta

K%

Stm

10 T

W THZO

d

PP S

Air Tair

45

Tg 0%

Gas



(

)

1.1.

(1)

(2)

3)

1998 10

1999 4 1

46



(4)

(5)

(6)

(7)

(8)

1.2

(1)

(2)

47

B8223

A9501



(3)

1.3.

(1)

(2)

3)

(4)

(5)

48

1%



49



(

)
A o
(1)
(2)
(3) o
6.1.
0/n
75~ 100 - - 1.05~12|1.05~11| 1.2
30 50~100| 1.3~1.45 |1.2~1.45(|1.10~1.25/ 1.10~1.2 | 1.2~1.3
10 ~30 |50~100| 1.3~1.45 [1.2~1.45|1.15~1.3 | 1.15~1.3 -
5 ~10 |50~100 - - 1.2~13 | 1.2~1.3 -
5 50 ~ 100 - - 1.2~13 | 1.2~1.3 -
6.2.
0/n
75~10 - - 1.05~1.1|1.05~1.1|1.15~1.2
30 50~10| 1.2~1.3 [1.2~1.25|1.05~1.15[1.05~1.15| 1.2~1.3
10 ~30 |50~10| 1.2~1.3 [1.2~1.25[1.15~1.25|1.15~1.25 -
5 ~10 |50~10 - - 1.15~1.3 |1.15~1.25 -
5 50 ~ 10 - - 1.15~1.3 |1.15~1.25 -
6.3.
0/~
75~10 - - 145 110 200

50




30 50~10| 200 200 200 170 200
10 ~30 |50~10| 250 200 200 170 -
5 ~10 |50~10 - - 220 200 ;
5 50 ~ 10 - - 250 220 -

6.4.
0/

75~10 - - 135 110 190

30 50~10| 180 170 160 140 190
10 ~30 |50~10| 180 170 160 140 -
5 ~10 [50~10 - 300 180 160 -
5 50 ~ 10 - 320 200 180 -

51




52



(

)

650 ~ 900
, 4M
(EPRI)
(1)

(2)

(JOULE)1997 ,
(BFC) o
, 1.5MW, 10bar,
, 2M, 0.4M
0.5M, .
(DOE) (FETC).
1997 ,
45% 2% ~ 9%

53

42% ~ 52%

10%

CO2

o



3) , 25% ~ 35% 10%

(4) , 45%  1.5% 0
() : 10%s.
(6) : 0
(IEA) ,
30MWe ,
(1) (grate fired boiler)
(2) (bubbling fluidised bed)

(3)IGCC(integrated gasification combined cycle)

(4) (co-firing in pulverised coal boiler)

(5) (GF boiler parallel with PC boiler)

(6) NGCC(GF boiler parallel with NG combined cycle)
2000 (GHGT-5)

; 0 , , IGCC

54



, 22 | 800MWe,

25%, 1590 ~ 1950%/KWe, 9.2~11.1c/KWh,
o 1999 N N ;
, 100 /hr : 410 /hr, 110kg/cm2G
510 : 70Mw 70%
: 60% 85% :
) 1 )
60%, 30%. 10% ,

. CO2 : 0

55



)

7.1.

C% H%

/7.5 8.5 6950
76.7 9.4 7850
44.5 5.7 3800
45.1 5.6 3850
39.0 5.2 3800
74.0 11.0 8700
34.0 5.0 2600

(1)
1 300 / . 16 /I, 230L/hr
70 8kg/cm2G 3 /hr, 60%.

84%, N N N ;

56



16 , N N 108kg/hr ,
5,600kcal/kg , 25L/hr,
20L/hr 70% |, 8kg/cm2G 1 /hro
13 /L, 7 L : 10,536 /
, CO2 3,874
(2)
56%,
; 19
81% : 1 /hr
19% , 521Mcal/hr ,
22%o
: 83L/hr : 20L/hr
: 1,541 /I, 4 Ihr
: 15%, 1.5
3)

90% ,

57



, 4 |hr

: CO2 946 /| 21%,
2.
(1)
1 300 / ., 16 /-, 95L/hr
60 8.5kg/cm2G 1.2 /hr, 40%.
83%. N N N ;
12 : . 80kg/hr
5,000kcal/kg , 20L/hr,
18L/hr , 75% , 8.5kg/cm2G 0.8 /hr
o 13 /L, 7 IL : 4,970
/| ,CO2 1,724
(2)
53%,
4 /|
77% : 0.8

58



/hr 23% , 4,776Mcall

16 / 27%
: 812L/ ,
216L/ , 863 /I,
1.8 /hr : 18%.
2 o
(3)
95% ,
, 1.8 /hr
: CO2 516 / . 25%.
(1)
2 : 350 [/ .
24 /I, 2,360L/hr , 94 |
8kg/cm2G 34 /hr, 55%, 89%s.
N N : 24 :
. 2,500kg/hr 60% 1,000kcal/kg ,

120L/hr , 52%,

59



75% , 8kg/cm2G 4.8 /hro
; 145,824 /[, CO2
(2)
8% ,
69%
/hr 31% ,
: 9%,
, 335L/hr
120L/hr : 12,642 /
38.8 /hr : 8%,
N 4 o
3)
90% :
: 38.8 /hr
CO2 5418 /| 8%,

60

7 /L

62,496 o

5% ,

: 4.8

1,890Mcal/hr



15

10 ~55

50 ~80% , 3~7% ,
170~210 55~65 , 82~87%
30 ,
; 88%.
: 0.5~1.0%,
130~ 160 2~4% ,

87~91%

61



62



63



64



